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Topic:- DU_J18_MPHIL_ACEE

1) A doctor studies the effectiveness of two drugs of dengue fever. His research would be classified as:

Teh Siqe, 29 GEW i &F garHt i
WEATESIEET T HETAT FA § IR A
TAFATEEN, St RRem ST

[Question ID = 30881]

1. Descriptive survey / T 2T [Option ID = 63518]
2. Case study / #F ¥ [Option ID = 63516]

3. Ethnography / =R [0ption ID = 63517]
4. Experimental research / J¥3IT® s®9=  [Option ID = 63519]

Correct Answer :-
« Experimental research / }¥3if® %99 [Option ID = 63519]

2) A null hypothesis is:
T I T T A #
[Question ID = 30880]

1. The same as research hypothesis / ¥ 372 3% SHHFTH BLIE T S [qption ID = 63513]

2. When there is a difference between the variables / &= =% % = 37§ § [Option ID = 63514]
3. When there is no difference between the variables, ; = =% & &1 T 37T 751 f11 & [Option ID = 63515]

4. Subjective in nature / FE®TT F IHE T [Option ID = 63512]

Correct Answer :-
« When there is no difference between the variables, / = =% ¥ 1= 1 37 T g1 & [Option ID = 63515]

3) Which of the following statements is not true in the context of participatory research?

1 & & i &1 Fua wefiar agua & gl 7 W @ 2
[Question ID = 30888]

1. Its sole purpose is production of knowledge / FHPT TP HIA E]E\E"H’ﬂ =TT T gere-d % | [Option ID = 63547]
TE A B fagivd AFA W SR g 21

2. It emphasizes on people as experts. / [Option ID = 63545]
3. It is a collective process of enquiry /;ﬁ; Sita 3 % i LIB 5 aferar ‘ﬁ." ! [Option ID = 63546]
4. It recognizes knowledge as power. / e =T B e & w9 A A %‘ [Option ID = 63544]

Correct Answer :-
«» Its sole purpose is production of knowledge / DT TP HIA a—c(:a"m S ST ST | [Option ID = 63547]

4) Which of the following statement is correct?
eI 2 FEETT S AT

T S

[Question ID = 30868]

1. Discoveries are researches /™ ® T Ted 21 [Option ID = 63464]
FTEERT 3T SR T gAY | wed
2. Invention and research are related /z I . et enieeree [Option ID = 63466]
3. None of the above/ el ¥ 9 =i [Option ID = 63467]
4. Researches lead to discovery /*aﬁsr wiw & ot et £ [Option ID = 63465]



Correct Answer :-
* Researches lead to discovery /srr‘rv;r wiw # affera gt &) [Option ID = 63465]

5) Which of the following statement is correct?

ST & f I A ST 96 oa7

[Question ID = 30869]

IR TS TET
W TSR [ Option ID = 63468]
TERT gy 4 e w w o ferem wn

2. Objectives can be written in statement or question form / o £ [Option ID = 63470]

1. Objectives should be pin-pointed /

HEN & few
3. Another word for problem is variable / e R [Option ID = 63469]

4. All of the above /| = e ok [Option ID = 63471]

Correct Answer :-

6) Which of the following are the basic rules of APA style of refereeing format?
(A) Italicize titles of shorts worker such as Journal articles or essays

(B) Invert authors name (Last name first)

(C) Italicize titles of longer works such as books and journals.

(D) Alphabetically index reference list.

Select the correct answer with the help of codes:

A =49 sl o Had
7 Horvm e 2
B. Bidl wfagl &4 o-a ardsw @1 FEa 3
sims oo ferd
C. dE®l @ = wecl By (s A usd)
e
D. g4l mfral |9 ywe wd o4a 3 s
forver =

Had A sfaficat &1 auiqsa fod

[Question ID = 30889]

1. B, C, & D [Option ID = 63549]
2. A & B [Option ID = 63548]
3. C & D [Option ID = 63550]
4. A, B, C, & D [Option ID = 63551]

Correct Answer :-
« B, C, & D [Option ID = 63549]

7) ‘National Adult Education Programme’ and ‘National Literacy mission’ was started in-

T ot e seE T TEE
T fiv # weany 52 o

[Question ID = 30910]

1. 1999 & 2001 [Option ID = 63635]
2. 1976 & 1982 [Option ID = 63632]
3. 1978 & 1988 [Option ID = 63633]
4. 1986 & 1992 [Option ID = 63634]

Correct Answer :-
e 1978 & 1988 [Option ID = 63633]

8) Evaluation research is related to-

- FAFEES FAEU Wetad -



[Question ID = 30913]

m = >
1. How well are we doing? /ﬁ_Fr il S [Option ID = 63646]

2. Why are we doing? /ﬁ':r AT T [Option ID = 63644]
3. What are we doing? /7 ¥ F & &7 [Option ID = 63645]

FudE & | W o

4. None of the above / [Option ID = 63647]

Correct Answer :-

9) Source of information may be called as-
HEATST T BT BT HET W HHAT

-

[Question ID = 30909]

1. Foot notes / == T=®  [Option ID = 63628]

2. Research methodology / ETW\_ 2 [Option ID = 63629]

3. Preface / T®F [Option ID = 63630]

grEET

4. Acknowledgment / [Option ID = 63631]

Correct Answer :-

« Foot notes / we :ﬁ?‘g [Option ID = 63628]

10) Why does validity pose a problem for qualitative research?.

. UTeRE e B e
AT T e 2

[Question ID = 30903]

I ST FEd AHCAE AU # T
1. Because validity is only an issue in quantitative research. / ¥+ i X [Option ID = 63607]
Fitn ST FT T & F T FE

AECHR 22T FT 7

2. Because there is not any quantitative data on which to answer validity. / [Option ID = 63606]

Fifen S &1 AGT Jaee § o TE e

3. Because the measurement of validity implies that there is something which can be measured. / § = AT e [Option ID =
63605]
TIE AR 24 9 B e
4. Because the validity of interviewer cannot be measured / ¥ T TE w1 FwaT [Option ID = 63604]

Correct Answer :-
iR ST f7 AT AOeE § R T §E

« Because the measurement of validity implies that there is something which can be measured. / & =% = =T T §1 [Option ID =
63605]

11) Workshops are meant for:

FERTEATE &7 gaie- siar 2 |
[Question ID = 30885]

1. Showcase new theories/t Rigidl &1 Ue’ [Option ID = 63534]

2. Multiple target groupsm SR [Option ID = 63533]

3. Hands on training / experience /¥ FHwT/ g [Option ID = 63535]
4. Giving lectures™="7 & [Option ID = 63532]

Correct Answer :-
« Hands on training / experience /F=8 FRET /15 [Option ID = 63535]

12) Applied research is concerned with

Tage frad feow Wafm 2|



[Question ID = 30864]

1. Understanding social world / FEaE S =t w [Option ID = 63448] .
0F TEEH WAW $ gAEdEar § A

2. Concerned with measuring the effectiveness of an action programme. / @ wafew 2 [Option ID = 63451]
faf¥rs wwmat W BF w4 | Hafim
3. Concerned with solving specific problems /2| [Option ID = 63449]
T T wfEes 9 W=t e s omg
4, Conducted by controlling one or more variables / F=Tid BT | [Option ID = 63450]

Correct Answer :-
fafirs wemat w7 5 T4 | Hefim
- Concerned with solving specific problems /21 [Option ID = 63449]

13) Identify the main characteristics of scientific research among the options written below.

e g T Beedt # @ @S
ST T e e agan

[Question ID = 30886]

1. Theoretical /4gifa® [Option ID = 63537]
2. Experimental / ¥ gk [Option ID = 63538]
3. Empirical / ¥ =77 [Option ID = 63536]

4. Al above are correct /¥T3™ I W 21 [Option ID = 63539]

Correct Answer :-

/qqg:ﬁw’rwm

« All above are correct [Option ID = 63539]

14) The study in which the investigator attempt to trace an effect is known as:

% s # UF sgHa sl
et 99 & Wi BT YA Al g 539
TH W A AR g

[Question ID = 30874]

1. Survey research / T257 FIE  [Option ID = 63488]

2. Historical research THee® ST [Option 1D = 63489]
3. Ex-post Facto’ research / & TR FFT T [0ption ID = 63491]
4, Summative research / ¥ FIFETE [Option ID = 63490]

Correct Answer :-
« Ex-post Facto’ research / T ¥%E ¥FT M [Option ID = 63491]

15) In the process of conducting research “Formulation of Hypothesis” is?

ATHE AT T B W 7
‘Gt HeIT BT TaT B HEd 27

[Question ID = 30884]

1. Collection of data / 7 FT FI%  [Option ID = 63529]
2. Analysis of data / == ™ =¥ [Option ID = 63528]

3. Statement of objectives / Sl T Ha [Option ID = 63530]
4. Selection of research tool / A2 LAl [Option ID = 63531]

Correct Answer :-
« Collection of data / ¥ #7 #I&  [Option ID = 63529]

16) How do you define language, answer the correct choice.

T GTST T A TR F § T
TR BT LAE B |

[Question ID = 30907]

1. Medium to express experiences / e =0T FiH & T AT onion D = 63622]

2. Instinctive development / ¥&= =% [Option ID = 63620]
3. medium for self enhancement / ¥ & # T T [Option ID = 63623]



4, System of Symbols for effective communication / FHET F=T & &T TRl £ T9=  [Option ID = 63621]

Correct Answer :-
« Medium to express experiences / FEe o Fa W FET  [o5tion ID = 63622]

17) In qualitative research paradigm, which of the following features may be considered critical.

witg & wfemma #, foe 7 &
w7 FEEET F A=y A @ wear
2|

[Question ID = 30890]
WA gt o aftw ufteet ==

1. Sampling design with probability sample technique / FT AfHPeT [Option ID = 63553]
gsa & w@UEw F gfeagfas weat @
2. Data gathering with bottom-up empirical evidences / B & e wlwer # ik sgE [Option ID = 63554]
‘T @ P i W wfed gew
3. Data glancing to take place with top-down systematic evidences. / HL=Y [Option ID = 63555]
AEHET T TAHL BT HEAET |
4, Data collection with standardized research tools. / ¥53 ®T ®&Fa" [Option ID = 63552]

Correct Answer :-
UEE @ wuew § gfraafis et &

« Data gathering with bottom-up empirical evidences / " ¥ =9 T BT Y FHwE [Option ID = 63554]

18) Survey research is conducted to study

e 2y AT IS AT
A S

[Question ID = 30867]
1. Events / "9cHT [Option ID = 63460]
2. Circumstances /¥Rt [Option ID = 63463]

3. Population /51 [Option ID = 63462]
4. Processes / ¥4 [Option ID = 63461]

Correct Answer :-
« Population /= [Option ID = 63462]

19) Multiple regressions can be used to: -

T giemae (Aediae HEe)
wuiT far o w2

[Question ID = 30900]

FreaiieT 7 R fEelw gl & MR, gEed

1. Determine what the size, sign & significance of particular parties are in an explanatory model of behavior/ ¥1¥ Faeea =9agr & FIECHIoT & #Fiew & §
[Option ID = 63594]
qafEE] 1 =pAes wen P e
B & " E ¥ aftewas fiewe 8 s
2. Determine the maximum number of predictors which can explain the maximum variable in the criterion / ¥% o £
[Option ID = 63593]
=Y & fodr fasia gz i Afysmard st
3. Look at the predictiveness of a particular set of variables /<=7 =%, [Option ID = 63592]

4. All o the above /  T52 ™1 [option ID = 63595]

Correct Answer :-
« Allofthe above / =527 ¥ [0Option ID = 63595]
20) Bibliography given in a research report:

sgweaE fme 7 wad T fam
=T & =t

[Question ID = 30873]



1. Has no relevance to research /5T & [T FIE SREHT T E  [option 1D = 63484]
[T FT S T RS S (option 1D = 63485]
Hiet & ofrer F T @S Tl R Hag il
3. Helps those interested in further research / & [Option ID = 63486]
4. All of the above/  THET 1 [0ption ID = 63487]

2. Shows vast knowledge of the researcher

Correct Answer :-
e & oirg # S 1@ aTel 1 Jgg
« Helps those interested in further research / # [Option ID = 63486]

21) Sampling in qualitative research is similar to which type of sampling in quantitative research.

AUAT AL H AT
AATS ATHAH F 50 79N § TEF
A E |

[Question ID = 30905]

1. Simple random sampling / TR IERET TLIFTT  [Option ID = 63612]
2. Systematic sampling / HEE FLIWET  [Option ID = 63613]

EI THATETT
3. Purposive sampling / —~ e [Option ID = 63615]
4, Quota sampling / T THA®F™  [Option ID = 63614]

Correct Answer :-
FF THATETT
o Purposive sampling / R [Option ID = 63615]

22) A satisfactory statistical quantitative method should not possess one of the following qualities.

I 30. TS HOl9ES fhE AEes geAt
# fr O W U T e wied |

[Question ID = 30902]

1. Appropriate / FIFT/HTE (05400 1D = 63603]

2. Comparability / 3¥= 2 roption ID = 63602]
3. Measurability / T#ETET [Option ID = 63601]

4. Flexibility / TH=I%.  [Option ID = 63600]

Correct Answer :-
. Flexibility/ﬁﬁlEIEEL [Option ID = 63600]

23) How can the objectivity of the research be enhanced?

ST T e 4 =g A
I

[Question ID = 30879]

1. Through its validity /57T 27 & Fmes 7 [Option ID = 63508]
2. Through its reliability /FFT FE=T==E & AH H 105400 1D = 63500]
3. Through its impartiality / $¥% FE02T % FETT & [0ption ID = 63510]

#i1 U
4. All of the above /H [Option ID = 63511]

Correct Answer :-

T I
« All of the above / [Option ID = 63511]

24) Identify source of soil pollution -
AT GFET F FEHT B TN —
[Question ID = 30911]

1. Water from mines / =22 ™ ™ [0ption ID = 63638]

2. Al are correct / T ¥ 21 [option 1D = 63639]
3. Acid rain & garbage / $9= ™ W & [05tion ID = 63636]
4. Industrial waste / #ifI®E =4 (@=1 3 [Option ID = 63637]



Correct Answer :-

« All are correct / T ¥ £ [0ption ID = 63639]

25) A detailed description of methodology of research is required in

= o % foes sgwae 31 ogafa
&1 faega avf= sndfem 2

[Question ID = 53376]

1. Symposium/Workshop / . TARTR FW [Option ID = 93491]

2. Seminar paper / Articles / Y /e [Option ID = 93492]

3. Thesis/Dissertation / TP SLEF [Option ID = 93490]

4. Conference & Seminar Paper / FeiEa o W T [Option ID = 93493]

Correct Answer :-
« Thesis/Dissertation/ ¢ Lk [Option ID = 93490]

26) . Generalized conclusion on the basis of the sample is technically known as:

THAT F HTUW T {AT HeR
faFTa T aEAEI Y | oE =W 2

[Question ID = 30875]

1. Statistical inference TH=T T HIFT- [Option ID = 63492]
2. Data analysis and interpretation /FFE! #1 H=w HT = 165400 1D = 63494]
3. Parameter inference /HITE T FeEE FS=ET  Gion D = 63493]

4. All of the above /5™ i [Option ID = 63495]

Correct Answer :-
« Data analysis and interpretation /&S] #1 R J ST 100460 1D = 63494]

27) . Aresearch paper is a brief report of research work based on:

T Y O @i T R S T
wEeT AOE g amenfiE wiar 2|

[Question ID = 30882]

1. Both Primary and secondary data /M A e =l [Option ID = 63522]
2. Primary data only / ™% 5T F59  [0ption ID = 63520]
3. Secondary data only / I el [Option ID = 63521]

4. None of the above / 77V # H HE A [Option ID = 63523]

Correct Answer :-

« Both Primary and secondary data /m ST b = [Option ID = 63522]

28) The mean deviation of the values 18.12, 15, is

fad T e 1812, 15 2 AEA
e o 8 |

[Question ID = 30898]

1. 6 [Option ID = 63584]
2. 2 [Option ID = 63587]
3. Zero [Option ID = 63585]
4. 3 [Option ID = 63586]

Correct Answer :-
« 2 [Option ID = 63587]

29) What kind of statistical test is used for a global test of significances?



e ® dffss e 2g 5w ven
w7 HiftsTsE T w1 ST A o € |

[Question ID = 30897]

1.Ztest/ 'ZT  [Option ID = 63580]
2.Ftest/ F™® ™ [Option ID = 63583]

3.t-test/ ' =TT [Option ID = 63581]
T

4. Chi — square / o [Option ID = 63582]
Correct Answer :-
e Ftest/ FT [Option ID = 63583]

30) Diagnostic evaluation ascertains:
daifF qeaies (e s
AEEA) giTTEa v 2|

[Question ID = 30887]

1. Degree of achievement of instructions at the end. / mﬁ 31.'3 o HHe el . [Option ID = 63542]

sl @ <ive @t @ gafy siv fawear [Option ID = 63541]

FEE ® =tee gfrE FY wod et
® HE UE frarer

2. Learning progressed failures during instructions /

3. Cause & remedies of persistent leaving problems during instructions /

FAE # unA § fEmitat s e
4. Students performance at the beginning of instructions / == [Option ID = 63540]

[Option ID = 63543]

Correct Answer :-
AT ® SteE SR B Gad gEEst

« Cause & remedies of persistent leaving problems during instructions / o RO L ot [Option ID = 63543]

3 In the ‘Intellectual property Right’ includes-

Aifge dugr affrere 9 wafza 8-

[Question ID = 31277]
Industrial design in the form of patents. / aifelifiie wiwy yeta (Wde) 7 wu i _
[Option ID = 65100]

’ . . . . . =% . N
5 Geographical indication in the form of patent. / Hi#lifedid Hdd vbw (Ude) & wu d [Option ID = 65101]

A — [
3 Trademarks / <14y far-e [Option ID = 65102]

All are correct. / &3l €&l & | )
4, [Option ID = 65103]

Correct Answer :-

3
K 8
All are correct. / 4™l €&l € | [Option ID = 65103]

32) Newton gave three laws of motion. This research is categorized as:

TEA 7 AT & o P R 5w ey w1 Aeger @ igg ma o

[Question ID = 31279]
Applied h / TeEs TEd
1, PREEL TR [Option ID = 65109]

Seule Sy | e R [Option ID = 65108]

Fundamental research / Fifew 3@
3. [Option ID = 65111]

4, Descriptive research/ FUiACHF FaEu [Option ID = 65110]

Correct Answer :-

Fundamental research / wifew smous
. [Option ID = 65111]



33
) Which of the following sampling method is appropriate to study the prevalence of AIDS amongst

male and female in India in 1976, 1986, 1996 and 20067

1976, 1986, 1996 iz 2006 3 s 9 T2y 3z #AlEcl 3 =i U5H & W2R =1 3576 526 & foe
Brad & ®i9 @ T ol s E?

[Question ID = 30877]

1. Quota Sampling /m FHARTT  [Option ID = 63500]

2. Systematic Sampling // == G =HielshTE [Option ID = 63502]

3. Cluster sampling / R A [Option ID = 63501]

4. Stratified random sampling / T & e T [Option ID = 63503]

Correct Answer :-
« Systematic Sampling /' ™= T AT [Option ID = 63502]

------------- Refer to inferring about the whole population based on observations made on a small part.

............. oI e w v v ROt & smur o Y e & aoie SEr)

[Question ID = 31276]

1. Deductive inference / fadieTe SHT [Option ID = 65099]

Pseudo — inference/ (12211 31+ 411 _
[Option ID = 65096]

Inductive inference/ ATFTHAICHh 3 AT

[Option ID = 65098]

Objective inference/ 32T HTH )
4, K [Option ID = 65097]

Correct Answer :-

Inductive inference/ HATRFTHAICHh 3 AT

[Option ID = 65098]

35) With regard to email, What does BCC : mean?

¥ —dAa® geg § BCCH =m
ot 2

[Question ID = 30894]

1. Blind computer communication: The user specified is the BCC: field will get the email but it will be an audio file because this is how blind people get email
wiige $rgey 999w (BCC: ¥ies 7
TR gaiear —Hd TE w9 Wy 98
gt Grga 2 F ok # ferad gttt
/ T E-dEurE w T [Option ID = 63571]
2. Blind computer communication: the users specified in the: BCC: field will get the email and see the addresses in the to: and CC : fields. /
wige Frgew 9w (BCC . wms
fafafde gatemr d—Fa wra =9 to: w8 CC
@ Wiew # war TEAT | [Option ID = 63568]
3. Blind carbon copy: the users specified in the BCC : field will get the email and see the addresses in the to: and CC: fields. /
wHige wE Higr; BCC: wes #
tamfd e g $-—Fa wrg =9 W o it
CC:wies # aar T [Option ID = 63569]
4. Blind carbon copy: The users specified in BCC: field will get the email but will not see the address is the to: and CC: fields. /
=ligs &EA S : BCC: wies # fafifd< gaiwar, §-Hd yrd &3 ¥ to: vd CC:

wiest § war T 3@ FH [Option ID = 63570]
Correct Answer :-
« Blind carbon copy: The users specified in BCC: field will get the email but will not see the address is the to: and CC: fields. /

=Ags HEA S : BCC: wies # fafafds gaiear, 9 e &3 o¥g to: vd CC:
Wiest 7 IaT T AW FHT| [Option ID = 63570]



36) Formulation of hypothesis may not be required in :

TRFEE A F 4 T e
= & w

[Question ID = 30876]

1. Historical studies / "B FEEH  [Option ID = 63497]
2. Normative studies /HT-d &I [Option ID = 63498]

3. Experimental studies / T FEE [(0ption D = 63499]
4. Survey method /5 B [Option ID = 63496]

Correct Answer :-
« Historical studies / *F® FHT  [0ption ID = 63497]

37) What is the primary function of inter disciplinary research?

3ia: faw iy &1 wrufie 1 w82
[Question ID = 30870]

HIATE ® g9 § The B9 & J7 &0

1. To reduce the emphasis of single subject in research domain. /¥ F% & Tl [Option ID = 63475]
SR TR A T A S S

2. To create a new trend in research methodology / for [Option ID = 63474]
3. To bring out holistic approach to research // ¥EH=T # T TR &1 & BT [ ovion D = 63473]
4. To over simply the problem of research /:*"_"-‘7\:"‘“?_"ﬁ'r T ot iy W [Option ID = 63472]

Correct Answer :-
« To bring out holistic approach to research /! =T & ¢ T2 TCHT & F W@ [0ion [D = 63473]

38) Which of the following is not the critical feature of qualitative research?

=1 # | B9 Tmeos—agHe a1
ey faewEr T 2

[Question ID = 30892]

aifty wEfEs Tw ® A Hee g

1. Seeking to establish relationship among measured social fact./ T BT I A [Option ID = 63562]
e wfifent & = e =@ 2 =
2. Research becomes immersed is the situation, present or past related to the phenomena / THARE. T M1 wWatad | [Option ID = 63563]

<1 T3 Rt 31 w9 W I 21 [gntion ID = 63561]

aETE e it gEE R
4, Actual settings are the direct source of data / =& 21 ®1 #itd 2| [Option ID = 63560]

3. Data take the forms of words or pictures. /

Correct Answer :-
ity wEfEs gl ® 4 Heer wufty
« Seeking to establish relationship among measured social fact,/ 7% ¥ ¥ T [Option ID = 63562]

39) Which of the following is not an example of non-.random sampling technique.

¥ | B19 1% mmafes (=)
TAT THET BT TR A 2

[Question ID = 30901]

1. Convenience / 3™ ™% [ption ID = 63598]
2.Quota/ ¥ [Option ID = 63597]

3. Cluster / T®7  [Option ID = 63599]

4. Purpose / Em [Option ID = 63596]

Correct Answer :-
« Cluster / T™" [Option ID = 63599]

40) Which of the following statements are correct about distance education in India? (A) It supplements formal education (B) It reduces
the cost of education (C) It replaces the formal education (D) it enhances access to education



and § e e w wEe A7 e

§ | F9—1 FuT 9 2|

TE itwmiiiw fiwm w1 s 2

=4, faem F1 9w ue w2

__TE stgmis fwn o gfeenfia S
2|

EHE. i 9% wET 98 it £
Eﬁ

[Question ID = 30895]

1. a, b & d [Option ID = 63574]
2.3, b, c&d[Option ID = 63572]
3. a, ¢, & d [Option ID = 63573]
4. b, c & d [Option ID = 63575]

Correct Answer :-
e a, b &d [Option ID = 63574]

41) Which of the following is the most comprehensive source of population data?

FerET & § Fi9 7 Faee g
FT FEH TAOF B AT

[Question ID = 30878]

1. National sample surveys / o1 Sl [Option ID = 63505]
2. National Family Health Surveys / T2 “H=T ¥R T2 00400 1D = 63507]

3. Demographic Health surveys / B sdisail [Option ID = 63506]

4. Census / FFTTHL - [Option ID = 63504]

Correct Answer :-
o Census [ ®FTHEL  [Option ID = 63504]

42) Which of the following are statutory bodies (A) Election commission of India (B) University grant commission UGC (C) All India
council for Technical education (D) National assessment & accreditional council Codes:

= § si9 4 gtofAs fAea 2
A At amm
fazafammea srg= M
figa Ad e e oftes
I EHIET TR U s,

[Question ID = 30896]

1. b & d [Option ID = 63579]
2. b & c [Option ID = 63578]
3. b, c &d [Option ID = 63577]
4. a, b, & c [Option ID = 63576]

Correct Answer :-
e b, c&d[Option ID = 63577]

43) . Longitudinal research approach deals with-

et sgHa gfewt fred
Hefem 2|
[Question ID = 30866]

1. Horizonal researches /== ¥ [option ID = 63458]
2. Long-term researches /S e M [o5tion 1D = 63457]
3. Short-term researches / ag wmfer ¥ M [Option ID = 63456]
4. None of the above /EF™ ¥ ®1E T2t [Option ID = 63459]

Correct Answer :-
« Long-term researches /S9F% M 10ption ID = 63457]

44) The main role of Education according to Plato was the following. Tick the right choice.



TREr W M e W e s

[Question ID = 30906]
) T SRR w0 F T [(option 1D = 63617]
et s & oAt T R
2. To develop the personality of each Individual. / il ﬁf i . [Option ID = 63618]
3. To develop the power of contemplator. / ks Ay e PreByw el e [Option ID = 63616]
4. All of the above /Z5% ™ option ID = 63619]

1. To strengthen the state.

Correct Answer :-

« Al of the above /=9 ¥ 15000 ID = 63619]

45) The first step of research is :

SR BT UGl =R0T 8:

[Question ID = 30872]

1. Selecting a problem / JHXT &1 9T [Option ID = 63481]
2. Identifying a problem / O Pt GgAH AT [Option ID = 63483]
3. Searching a problem / THEIT H1 Giol
[Option ID = 63482]
4. Finding a problem/ THXT @fa‘vﬂ [Option ID = 63480]

Correct Answer :-
« Identifying a problem / ORI B! UgdH AT [Option ID = 63483]

46) The following equation indicates the relationship among average median and mode

=1 & o wia—ar weww Afersr
T§ qEEF ¥ 4| o Hag Fiar 2

[Question ID = 30899]

1. Mean = 2 mode — 3 median / T =2 TEFF — 3 WA o400 ID = 63589]
2. Mode= 3 Median — Mean /T&8® = 3 FEIST — 2 =1 [Option 1D = 63588]

3. None of the above /35 ¥ ®id T [Option ID = 63591]

4. Median = 3 Mean — 2 Mode / TE0®T = 781 — 2 W& 5400 1D = 63590]

Correct Answer :-
« Mode= 3 Median — Mean /F85® = & ATEI®T — 2 F®  [Option ID = 63588]

47) Research can be classified as:

H T AR T B
FT HEAT

[Question ID = 30871]

1. Basic, Applied and Action research /* W, Wemles I Uit P [Option ID = 63476]

2. Quantitative and qualitative research /= ™ A T el [Option ID = 63477]
g, wieigTee, waer T urdiHs

3. Philosophical, Historical, survey and Experimental research /5_'3‘-"'1_',r . [Option ID = 63478]

Ty Fd W .
4. All of the above / [Option ID = 63479]

Correct Answer :-
o HH .
o All of the above / [Option ID = 63479]

48) Research and Development become the index of development of a country. Which of the following reasons are true with regards to
this statement?



I AT B O 2R & B
& FEEE B G| F9 YA ® #Ed A
AR # 8 %19 ' w00 57 57

[Question ID = 30865]

1. Because R & D can improve the standard of living of the people in a country /® % R U2 D RRHr e & ol & sl [Option ID = 63453]

2. Because R & D targets the human development / T R % D& @1 7@ 589 2 [qpvion 1D = 63452]
TR R V2 D TF &9 &) IR R

3. Because R & D reflect the true economic and social conditions prevailing in a country /3"1T : RIS [Option ID = 63454]
4. All of the above Z2™ ¥ [50tion ID = 63455]

Correct Answer :-

« Al of the above =™ ¥ 105tion ID = 63455]

49) ----mmmmeaee is a type of memory circuitry that holds the computers start up routine

AATE AfEET T UF TER £, &
FEITY T WIS M9 WeH B GRIa w2

[Question ID = 30891]

1.ROM/ ¥ 3 ¥ [ontion ID = 63558]
2.RIM/ ¥ ¥ T [Option ID = 63556]
3.RAM/ T qoption ID = 63557]

g9 At

4. Cache memory / [Option ID = 63559]

Correct Answer :-
« ROM/ % 3. ¥ 1o5tion 1D = 63558]
50) One of the aim of the scientific method in research is to

sgHae § dats ffr w1
TEET BT 2|

[Question ID = 30904]

1. Confirm triangulation / BFi™ar @t 4ffe =T [option ID = 63608]

2. Introduce new variables / ¥ X ® TR T [0ption ID = 63609]
ey =T F gaw
3. Improve data interpretation / . [Option ID = 63610]

Tl WEEEH B X DY

4. Eliminate false correlation / [Option ID = 63611]

Correct Answer :-

N  Jod! e B gX BT
« Eliminate false correlation / [Option ID = 63611]



